Contract ID No. Contract Name

Location of the Contract

: 18HI0023

 Construction/Improvement of Access Roads leading to Declared Tourism Destinations at Dakit-Ampongol-Cabungahan Road leading to Lauagan Falls, Brgy. Dakit, Sogod, Cebu
Sogod, Cebu

CONTRACT AGREEMENT

This CONTRACT AGREEMENT, made this <u>23rd</u> day of <u>February</u>, 2018, between <u>DEPARTMENT</u> OF <u>PUBLIC</u> WORKS AND <u>HIGHWAYS</u>, <u>CEBU5TH</u> <u>DISTRICT</u> <u>ENGINEERING OFFICE</u>, V. Sotto Street, Cebu City hereinafter called the "ENTITY", and <u>OUIRANTE CONSTRUCTION</u> Cayam, Brgy. Colon City of Naga City, hereinafter called the "CONTRACTOR".

WHEREAS, the ENTITY is desirous that the CONTRACTOR execute the Works under <u>Contract</u> <u>ID No. 18HI0023 – Construction/Improvement of Access Roads leading to Declared</u> <u>Tourism Destinations at Dakit-Ampongol-Cabungahan Road leading to Lauagan Falls,</u> <u>Brgy. Dakit, Sogod, Cebu,</u> hereinafter called "the Works", and the ENTITY has accepted the Calculated Bid of the CONTRACTOR for the execution and completion of the Works at the calculated unit bid prices shown in the attached Bill of Quantities, or a total Contract price of <u>Eighteen Million Three Hundred Twenty One Thousand Three Hundred Ninety Eight</u> <u>Pesos Only (Php 18,321,398.00)</u>.

NOW THIS CONTRACT AGREEMENT WITNESSETH AS FOLLOWS:

- 1. In this CONTRACT AGREEMENT, words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract hereinafter referred to.
 - The following documents shall be attached, deemed to form, and be read and construed as part of this CONTRACT AGREEMENT:
 - a. Bidding Documents for the Contract (Annex "A")
 - (1) General Conditions of Contract
 - (2) Special Conditions of Contract
 - (3) Drawings
 - (4) Specifications
 - (5) Invitation to Apply for Eligibility and to Bid
 - (6) Instructions to Bidders
 - (7) Bid Data Sheet
 - (8) Supplemental/Bid Bulletins (Addenda)
 - b. CONTRACTOR's Calculated Bid in the Form of Bid including its Technical and Financial Proposals, with addendum showing corrections, if any, made during the Bid evaluation to arrive at the Calculated Bid (Annex "B)
 - c. Contractor's Information from the DPWH Registry (Annex "C")
 - d. Notice of Award of Contract and the CONTRACTOR's "conforme" thereon (Annex "D")
 - e. Performance Security (Annex "E")
 - f. PERT/CPM diagram and bar chart with S-curve (Annex "G")

CAND

eneral Mane

Proprié¹

2.

0/2017 -02 - 6000 GAR 1012

(Department of Public Works and Highways) By:

The Government of the Republic of the Philippines

Location of the Contract : Sogod, Cebu	Contract Name : Co Ro De Co Fal	abungahan Road leading to Lauagan
--	---	-----------------------------------

- 3. In consideration of the payments to be made by the ENTITY to the CONTRACTOR as hereinafter mentioned, the CONTRACTOR hereby covenants with the ENTITY to execute and complete the Works and remedy any defects therein in conformity with the provisions of this CONTRACT AGREEMENT in all respects.
- 4. In consideration of the execution and completion of the Works by the CONTRACTOR, the ENTITY hereby covenants to pay the CONTRACTOR the unit prices in the CONTRACTOR's Calculated Bid, as applied to the actual quantities accomplished as certified by the PROCURING ENTITY under the provisions of the CONTRACT AGREEMENT, at the times and in the manner prescribed by the CONTRACT AGREEMENT.

Proprietor/(Pay Item No.	Description	Unit	Qty.	Unit Price	Amount (Pesos)
-	(1)	(2)	(3)	(4)	(5)	(6)
000041	A.1.(1)	Construction of Combined Field Office, Laboratory and Living Quarters Building for the Engineer	L.S.	1.00	50,000.00	50,000.00
-04	E.4(10)	Miscellaneous Survey and Staking	L.S.	1.00	50,000.00	50,000.00
2	B.5	Project Billboard/Signboard	Each	2.00	8,700.00	17,400.00
10-20-8/01/01	B.7(1)	Occupational Safety and Health Program	Mos.	4.00	18,000.00	72,000.00
10		Mobilization/Demobilization	L.S.	1.00	90,618.00	90,618.00
	100(1)	Clearing and Grubbing	Ha.	0.60	6,000.00	3,600.00
	100(3)a1	Individual Removal of Tress (150- 300mm dia. Small)	Each	6.00	6,000.00	36,000.00
	101(3)b1	Removal of Actual Structures/Obstruction (PCCP Unreinforced, 0.15m thk.)	Sq.m.	3,000.00	80.00	240,000.00
	102(2)	Surplus Common Excavation	Cu.m.	8,273.00	180.00	1,489,140.00
	104(1)a	Embankment from Roadway Excavation (Common Soil)	Cu.m.	1,134.00	510.00	578,340.00
	105(1)a	Sub Grade Preparation (Common Material)	Sq.m.	7,946.00	50.00	397,300.00
	200(1)	Aggregate Sub-Base Course	Cu.m.	2,943.00	900.00	2,648,700.00
	311(1)c1	Portland Cement Concrete Pavement (Unreinforced, 0.23m thk., 14 days)	Sq.m.	6,650.00	1,550.00	10,307,500.00
	505(2)a	Grouted Riprap, Class A	Cu.m.	913.00	2,000.00	1,826,000.00

SCOPE OF WORK

Contractor: QUIRANTE CONSTRUCTION

CAND

ral Manage

OUIRAN

JONA



	Contract ID No. Contract Name Location of the Contract	::	Road Destin Cabu Falls,	tructio s lea nations ungaho	ding to s at an Road Dakit, Sog	ement of Declared Dakit-An leading to od, Cebu	Tourism 1pongol-
1	Metal Guardrails (Metal Boam)		1	1 m	40.00	2 500 00	100

			ΤΟΤΑ	L	P 18,321,398.00
620(1)a1	Chevron Signs, 450mm x 600mm – GAD Attributions	Each	12.00	12,500.00	150,000.00
612(2)	Reflectorized Thermoplastic Pavement Markings (Yellow) (GAD Attributions)	Sq.m.	72.00	800.00	57,600.00
612(1)	Reflectorized Thermoplastic Pavement Markings (White) (GAD Attributions)	Sq.m.	250.00	800.00	200,000.00
603(4)a	Metal Beam End Piece (Fish Tail), GAD Attributions	Each	4.00	1,800.00	7,200.00
603(3)a1	Metal Guardrails (Metal Beam) including Post, W Beam, GAD Attributions	L.m.	40.00	2,500.00	100,000.00

- For a contract duration of: <u>120 calendar days (inclusive of Twenty (20)</u> predetermined unworkable days due to unfavorable working conditions)
 - Liquidated Damages: The provisions on liquidated damages under Paragraph 8 of Annex "E" of the Implementing Rules and Regulations of Republic Act No. 9184 are hereby incorporated and deemed part of this Agreement.

(Department of Public Works and Highways) By:



6.

Proprietor Ceneral Manage

COURANTE

JONATHAK

Contract ID No. Contract Name	:	18H10023 Construction/Improvement of Access Roads leading to Declared Tourism Destinations at Dakit-Ampongol- Cabungahan Road leading to Lauagan Falls, Brgy. Dakit, Sogod, Cebu
Location of the Contract	:	Sogod, Cebu

IN WITNESS WHEREOF, the parties thereto have caused this CONTRACT AGREEMENT to be executed the day and year first before written.

Signed, sealed, delivered by Engr. YUSOPH D. RASUMAN, District Engineer (for the ENTITY).

Signed, sealed, delivered by **JONATHAN M. QUIRANTE**, Proprietor/General Manager (for the CONTRACTOR).

REPUBLIC OF THE PHILIPPINES DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS

PROCURING

ENTITY)

QUIRANTE CONSTRUCTION

(THE CONTRACTOR)

By:

By:

(THE

MAN ineer

Witness:

STEPH Accountant III

1017018-02-000071 09 W18 GBA

JONATHAN M. OUIRANTE Proprietor/General Manager

Witness:

CAND TE (For the Contractor)

Contract ID No. Contract Name Location of the Contract	::	18H10023 Construction/Improvement of Access Roads leading to Declared Tourism Destinations at Dakit-Ampongol- Cabungahan Road leading to Lauagan Falls, Brgy. Dakit, Sogod, Cebu Sogod, Cebu	

REPUBLIC OF THE PHILIPPINES) PROVINCE OF CEBU) CITY OF CEBU) S.S.

ACKNOWLEDGEMENT

BEFORE ME, as the Notary Public for and within the City of Cebu, personally appeared **Engr. YUSOPH D. RASUMAN**, District Engineer, representing the REPUBLIC OF THE PHILIPPINES (Department of Public Works and Highways, Cebu 5^{TH} District Engineering Office), with Residence Certificate No. **11756153** issued on January 30, 2018 at Cebu City, and **JONATHAN M. QUIRANTE**, Proprietor/General Manager, representing **QUIRANTE CONSTRUCTION**, with Residence Certificate No. **00081838** issued on January 9, 2018 at Naga City known to me to be the same persons who executed the foregoing CONTRACT and AGREEMENT and they acknowledged to me that the same is their true act and deed for and in behalf of the parties they represented.

This instrument consist of five (5) pages, including this page, on which this acknowledgement is written duly signed by the contracting parties and their witnesses on the left margin of the other pages.

IN WITNESS WHEREOF, I have hereunto affixed my signature and official seal this _____ day of ______ day of ______

Doc. No.	A28 .
Page No.	86
Book No.	XXAV
Series of 20_	18

ID. SUSUSCO ATTY. G UBLIC ON NO. 2016-16-EJ NOTARIAL BER 31, 2018 OLL NO. 5300 UNTIL ATTOR 1/03/2018/ IBP NO. 0237 2/07/2018 / TALISAY CITY PTR NO. 301816 MCLE COMPLIANCE NO. V-0008256 EAST POBLACION CITY OF NAGA, CEBU



Vitness

feral Manabel

Proprietor/Our

NO/W

IONATHA

CANETE